[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

1.0

A
Jk
b
b ¢
T
i
b
ag
’
1S
1
-

[POUGN T N

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— poMm_CKF_TT retrainOldFiles125_v2_prelimWPM_epoch0

N 0.

L e e e

1) . . . . .

> 0.08------ e R i oo :

> : : : : :

2 : : : : :

e e S

o : : : :

£ 0.06f -1 AR S A

o : : : : :
I T R R SR | B
0.04f [t
0.03f-
0.02
0.0]

..............................

L
-

TTTI [T+

Wbt

&

14 aeb 3 ¢-44 oL deetH-4-¢34 -

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
> N R T
00.045fF - prrenrieesees A cTTTTT R e
S : : : : : :
T el A o
Bt B AR S o B S
P : : : : : : :
€ 0.03F----r-frrineeees e prrerdeeeeed A A preee
o : : : : : :
8.025
]
0.02
0.015
0.01

0.005

g =R ]
IS :
14 5
| R ERC -+ E--u-o-o— ------
oonbe BT TR ST LR
22015710 -5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


